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< 1,200
= 2,800
-S4 2Y9AEE 2 (12022 A2
Z ¢ 10,000,00021 14! 10,000
= 3,000
2 7,000
oYx2 1,500
~=RHE F EX(HYER, A0 S)
A= 375,000 & x4 Z X| 1,500
= 450
= 1,050
02 S324H| 25,380 20,880 4,500
OAlE&H|S XY 20,380
-AIEE § A2, QAAHIQ F4
s) 20,380,000 & * 1A 20,380
< 6,114
= 14,266
ORIk BH| 5,000
B 800,000& *2CH 1,600
& 480
= 1,120
NS [E=YN sl 500,000& *2CH 1,000
< 300
iy 700
-2 E0 200,000& 128 2,400
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 720
s 1,680
206 M=l 3,000 3,000 0
= 900
Ea 2,100
01 M=4l 3,000 3,000 0
OAITHEl =2 7
3,000,000 *14] 3,000
== 900
o 2,100
301 EtEE S 3,600 0 3,600
= 1,080
= 2,520
14 IIEt2 83 3,600 0 3,600
SEOLI| 2e &S|
10,0002 %302 122 3,600
= 1,080
o 2,520
405 KHAHE SH 1,500 0 1,500
& 450
Ea 1,050
01 AL =S F=H 1,500 0 1,500
Ou=Jl & g & 1,500
-AdE 7Y 500,000 1CH 500
= 150
Ea 350
-0I=J] 7e 500,000 +2CH 1,000
== 300
[ 700
I sFAH 2 290,320 0 290,320
201 er23 | 66,000 66,000
01 At2teltl 30,000 30,000
OSREMRI| WA M
30,000,000& * 14 30,000
02 S3=gHl 36,000 0 36,000
Ol =24H 525 & AHAl
3,000,000& ~12& 36,000
202 04| 4,320 4,320
01 =LHO LI 4,320 4,320
Ol =24 238 32 =8
4,320,000 4,320
401 Al HIZ 2018 220,000 220,000
01 Al&H| 220,000 220,000
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o=
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L2 (SE/XHH)
OI1
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e Gellsady 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtLIISAME 79 W 238! Al
220,000,000 * 14 220,000
AL D] 2t 52,300 59,400 AT7,100
= 15,690
o 36,610
201 et 3| 42,300 44,400 2,100
== 12,690
o 29,610
01 At22t2lt] 42,300 44,400 22,100
SHEER=1] 36,000
~ORMIHRI| BIAIK] 2t
500,000 ~4& 2,000
= 600
Ea 1,400
-REOI] AXNFHI| A
1,700,000 *20H 34,000
< 10,200
[Ea 23,800
Oogxt= 6,300
-MAKI2tel S I &Rt
1,575,000 x4 6,300
=S 1,890
s 4,410
202 04| 10,000 6,000 4,000
< 3,000
= 7,000
01 2LHoIH 10,000 6,000 4,000
O0rd 2] 2LIEE =&
20,0002 x5 +50& 5,000
= 1,500
Ea 3,500
ORI REFE
20,0003 58 50! 5,000
< 1,500
[Ea 3,500
eI =g s 22,640 93,240 A70,600
201 er23 | 11,200 10,000 1,200
01 At2teltl 11,200 10,000 1,200
Oget+=ZHI 11,200
220 s2E3 7Y
10,000,000 * 14! 10,000
-REO] M2 U222
300,000 432 1,200
202 04l 3,240 24,040 220,800
01 2LHoIH 3,240 14,040 10,800
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Chel: SEMQI|=AME 22| (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFOIZAHEE 2 goxa
3,240, 0002 3,240
203 URFZY| 2,200 2,200
03 Al EZIQL =ZIY| 2,200 2,200
OSEMQI|I=AME YRE
1,100,000& *22] 2,200
204 MPo-HAH| 600 600
EEEEET 600 600
OueIE Sy (32 22
50,0002 x1& * 12 600
406 J|EHAH=0I A 5,400 5,400
01 JIetAH=01d 5,400 5,400
STMIINER B
450,000 * 127K 5,400
Ord27| 2tel 79,89%6 79,89%6
101 ©1AH| 14,876 14,876
M ORNZZ2NSE S 14,876 14,876
O0rd M1 2tel 14,876
= 78,8803 x2& 642 10,097
-rasdsg 78,8302 x2H+0& 1,420
-FeI2FE 118,320 »2&»0 2,130
“UESE=E 13,646, 2402 *P% 1,229
201 =3 15,420 15,420
01 At22t2ltl 6,000 6.000
Oggt=3H| 6,000
-OrNSEs I 3,000,000 *14! 3,000
-] 22 |RFE 4 MA
300,000& x104 3,000
02 s3=gHl 9,420 0 9.420
OZ332= 2 HMAl 9,420
-MAIX 22l B3RS
510,000& * 122 6,120
-2LIEHE NESAH 2d dol28=
3,300,000& %12 3,300
202 04| 5,400 5,400
01 =LHOLI 5,400 5,400
OtIAAE g2 5,400,000 5,400
301 LEIE NS 44,200 44,200
14 IIEt2 8= 44,200 44,200
OREMLI] AEHE &3H|
50,0002 *30H * 12& 18,000
ORE[M2I| MEHZX 25244 24
500,000 22 1,000
ORZEMLI| THEASAHL ESH]
30,0002 «30H * 122 10,800
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Ofl &F2H

MEE
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el
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14,400
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o

Mo
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575,505
304,760
429,805
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SEOLISHHE 29
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241,800
72,538
84,632
84,630
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A104,334

101 e124d|
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241,800
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84,632
84,630
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1,988
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2,485
2,485
9,1%4
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< 1,524
[ias 1,524
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= 817
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-S| X 90,6803 2 *302 5,441
= 1,632
< 1,905
T 1,904
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= 2,067
= 2,410
T 2,410
O0F2HE A 71,890
-Jles 147,900 x22H 1552 45,849
= 13,754
& 16,048
s 16,047
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= 3,668
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s 4,279
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250,000 122

-XHEEHI= X 60,0002 102

HH W

Mo W

MW

MW

5,000
5,000

5,000
1,500
1,750
1,750
4,900
1,300

1,300
390
455
455

3,600

3,000
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1,050

1,050
600
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210
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13,000

13,55

A8,000

8,656

206 =4I
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12,000
14,000
14,000
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40,000,000 *14]

Mo W

40,000
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[Ea 23,879
14 0Bt 243 68,224 82,624 14,400
OOMTIRI| HAIKI Z& Y 212l
603,752 * 1132 K| 68,224
= 20,467
= 23,878
Ea 23,879
307 @120l & 40,000 50,000 10,000
= 12,000
= 14,000
Ea 14,000
04 QIZHHAIAIH 2 £ 40,000 50,000 10,000
OSEMRI| YAMBAL =7
40,000,000 *12] 40,000
= 12,000
= 14,000
[Ea 14,000
itzddE 29 275,146 315,885 N40,739
= 66,030
= 77,035
o 132,081
101 2I24H| 196,3%4 194,567 1,787
= 47,120
& 54,975
= 94,259
M ORIMZZ2NSE S 196,354 194,567 1,787
OREMRI] AIEEX 113,857
-Jl2s 78,8803 x3% »248& 58,687
= 14,084
S 16,432
= 28,171
-FERdsE 78,8802 x3& *68L 16,092
= 3,862
S 4,506
= 7,725
-FEIeE 118,320 x3& »52& 18,458
2 4,429
< 5,168
s 8,861
-AXt=E 78,8802 x3& * 15 3,550
= 852
= 9%
s 1,704
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T 1,988
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-Jl22 1479002 x3H x 106! 46,589
= 11,181
= 13,044
= 22,364
-0 2fse 39,4402 »3ZF *1052 12,424
= 2,981
= 3,478
= 5,965
-fUaRLy 118, 32021532+ 182 6.3%0
= 1,533
= 1,789
= 3,068
-AXtg 78,8803 +3Y * 15 3,550
o 852
= 994
= 1,704
g &g 78,8803 «3% 30! 7,100
= 1,704
= 1,988
= 3,408
A28 = 62,563,000& *0. 103 6,444
= 1,546
T 1,804
= 3,04
201 L2 AH| 67,192 93,718 N26,526
= 16,126
T 18,812
= 32,254
01 AtR2elt] 16,992 36,800 A19,808
Oget=2H| 12,000
“HOt2AIE 2 REXNZHE ABEE
-¢ 12,000,000& 12,000
= 2,880
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i 5,760
Oztels84| 4,992
~QAaHUAIL FIEt 247
416,000 122 4,992
= 1,198
= 1,397
= 2,397
02 2324l 50,200 56,918 2NB,718
OZ232=2 & Al 24,000
Mz & 333 24,000,000 24,000
= 5,760
= 6,720
= 11,520
OAld&EH| FXId| 21,282
CCVAIH % FH0iRt S 42l
5,000,000& 5,000
= 1,200
& 1,400
i 2,400
-HOI24HIEH Ald2 & |RAI22
16,282,000& 16,282
= 3,908
& 4,558
i 7,816
OH=H| 400
-0lF2], HI&2HI| RFU
2,000& *200L 400
= %
& 112
= 192
OXtgte ] 4,518
-XEEEU 250,000& 123 3,000
= 720
& 840
i 1,440
=1 IR IN ] s] 800,000 *1CH 800
= 192
& 224
= 384
-HEE= 718,000+ 1CH 718
= 172
= 201
= 345
206 M= 4l 5,500 10,000 24,500
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= 1,320
=S 1,540
s 2,640
01 Mz Hl 5,500 10,000 4,500
Og9g 25942 20,0003 *75& 1,500
= 360
= 420
o 720
OPEXZMEH 4B ¢ ABHNE
4,000,000 *14] 4,000
= 960
= 1,120
o 1,920
307 212+01& 4,000 4,000 0
= 960
= 1,120
o 1,920
02 QB HANSEX 4,000 4,000 0
ol Atz gl Xis
4,000,000& *12] 4,000
= 960
= 1,120
o 1,920
405 AtatE = 2,100 13,000 10,900
= 504
= 588
o 1,008
01 ML ESFSHI 2,100 13,000 10,900
OFOISAME HA)| 7
1,100,000 *1CH 1,100
= 264
= 308
o 528
OZ0r2AtdE WS 7
1,000,000 *1CH 1,000
= 240
= 280
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2VNE 2 L SSESSH B34 N2 (REOL 385,000 385,000 0
Jl 9ol )
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= 57,750
o 57,750
206 M=l 385,000 385,000 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 269,500
=S 57,750
s 57,750
01 M=4l 385,000 385,000 0
OO0 & 210 S 7
385,000,000 385,000
= 269,500
= 57,750
o 57,750
2DVINE 2 L SSE2 234 (T2 50,000 94,000 144,000
NAL StEZAL A2 KIE ALY
= 35,000
=S 7,500
s 7,500
207 ARl 50,000 94,000 44,000
= 35,000
= 7,500
[Ea 7,500
01 S| 50,000 94,000 A44,000
OotdIteI| =8Itz 2 &4
22,000,000 * 14! 22,000
= 15,400
= 3,300
Ea 3,300
OOFS 2T MM HEHAHZLIEHE HP
= 28,000,000 * 14! 28,000
= 19,600
= 4,200
Ea 4,200
2VINE 23 & SSE2SHMH E4FH| X (0T 50,000 100,000 50,000
Jl 9ol )
= 35,000
= 7,500
o 7,500
206 M=l 50,000 100,000 50,000
= 35,000
= 7,500
[Ea 7,500
01 M=4l 50,000 100,000 /50,000
O0rdez2le)| %ol
4,166,606« 123 50,000
= 35,000
= 7,500
o 7,500
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ool HAITIQIEEDIZ 2K (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
MENHMBIAXI SN (0L ORI HBMAX & ZHA 150,000 150,000 0
o)

= 50,000
= 15,000
= 85,000
301 LPENSZ 150,000 150,000 0
= 50,000
& 15,000
= 85,000
14 J|Et2 43 150,000 150,000 0
OO HRI| HEBMAX S ZHAI
1,632 *91,911.5m’ 150,000
= 50,000
T 15,000
= 85,000
HE2HZH|(SEZMENCL () (D1EHIIEH 71,456 53,724 17,732
OlHASAY|(SEMEN2D| 1) 4,200 1,980 2,220
OIHASAY|(SEMENC 20| 1) 4,200 1,980 2,220
101 2124 d| 4,200 1,980 2,220
01 2= 4,200 1,980 2,220
ONZE 4,200
2% (RE=s, ZOIEAHHEH)
75,0002 2H 128 4,200
J12d0(SEMENLD|DH) 67,256 51,744 15,512
J2ZH(SEMEN T2 1) 67,256 51,744 15,512
201 LB-2AY| 41,49 32,544 8,952
01 AtR2elt] 41,4% 32,544 8,952
Oget=ZH| 9,600,000& 9,600
O=tl 24,696,000 24,6%
o2g+4Y 7,200
-= 2| 7,200
OIS 3 HEH 60,0003 x1H 60 3,600
02 AHHIEH 60,0003 * 160! 3,600
202 04d| 19,400 13,800 5,600
01 =ZLHOdHI 19,400 13,800 5,600
O=U04dl 50,0003 *24H = 12& 14,400
OYZE S22 500,000& 10 5,000
203 RF=&H| 5,160 4,200 960
M EA2IHRFAL 5,160 4,200 960
ORN2ILRFAI 430,000& *12& 5,160
204 AR AY| 1,200 1,200
01 ¥ Z A 1,200 1,200




A SEMEHIRI|
M HY2HZHI(SEMEHTHRIID) (DIEHDIE
thel: J2ZHI(SEMETG20(H)
(=] XH ol( 3 = (=] OH @EE
SEEEEEESET

100,000& 1+ 12& 1,200
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